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&5<4 3.5. %4D4>F5D<EF<>< < E6>=EF64 >?4E=OE 7DG7>6 1 < 7-7> >?4EE>6 

&5<4 3.6. �64D<==O5 (GD576OG4==O5) E<FG4F<< E >?4E=O<< 7DG74<< 

 

%>45D64=<5 ��.03.01. �D><76>4EF65==4O ?D4>F<>4 (?> ?D>D<?N E?5F<4?L=>EF<) 

�<4O D45>F: 

1. �D>D<?5=<5 ?5D56>7>G=OE 4>>G<5=F>6 < >>=FD>?L 74 ?D46<?L=>EFLN <E >D>D<?5=<O; 

2. �D>D<?5=<5 647>==OE ?<EF>6 ?D< ?D<5<5 < 6O44G5 647>=>6, 6 F>< G<E?5 747DG65==OE 

>>=F5==5D=O<< < <5?><<< >F?D46>4<<;  

3. �D>D<?5=<5 4>>G<5=F>6, E6O74==OE E 6545=<5< EF4=F<>==>= >><<5DG5E>>= >FG5F=>EF< (> 

?D<5<5 7DG74, 6O7DG7>5 =4 E>?44, E>DF<D>6>5 < ?5D544G5, 6>76D4M5=<< 647>=>6 (>>=F5==5D>6), 

?D>6545=<< >><<5DG5E>>7> >E<>FD4 647>=>6 <?< >>=F5==5D>6); 

4. �D<5< < E44G4 7DG7>6OE 4>>G<5=F>6; 

5. �5D544G4 <=D>D<4F<< > =4?<G<< 647>=>6 E 7DG74<<, FD55GNM<E >E>5>= >EF>D>6=>EF< ?D< 

F>D<>65=<<;  

6. �D<5< < ?5D544G4 <=D>D<4F<>==OE E>>5M5=<= > ?>5744E E =57454D<F=O< 7DG7><, E 

>?4E=O<< 7DG74<<;  

7. �D54NO6?5=<5 647>=>6 > F5E=<G5E>><G < >><<5DG5E>><G >E<>FDG; 

8. �>4<D>64=<5 < >D>D<?5=<5 ?5D56>7>G=OE 4>>G<5=F>6; 

9. �D<5< 7DG7>6 6 647>=4E (>>=F5==5D4E) > ?5D56>7>5 =4 65?57=>4>D>6=OE EF4=F<OE 

>F?D46?5=<O;  

10. �O44G4 7DG7>6 <7 647>=>6 (>>=F5==5D>6) =4 EF4=F<OE =47=4G5=<O;  

11. �D74=<74F<O ED4=5=<O 7DG7>6 < GG5F4 57> =4 <5EF4E >5M57> ?>?L7>64=<O; 

12. �D>6545=<5 >><<5DG5E>>7> >E<>FD4 647>=>6 6 ?>5744E <?< 647>=>6 (>>=F5==5D>6), 

?>44645<OE ?>4 ?>7DG7>G (E46>5==4O >?5D4F<O); 

13. �55E?5G5=<5 E>ED4==>EF< 7DG7>6; 

14. �D>6545=<5 D>7OE>4 7DG7>6 ?> ?>EFG?<6L<< ?D5F5=7<O<, >D>D<?5=<5 E>>F65FEF6GNM<E 

4>>G<5=F>6;  

15. �?D545?5=<5 <4EEO ?5D56>7<<OE 7DG7>6 =4 65?57=>4>D>6=OE EF4=F<OE >F?D46?5=<O <?< 

=47=4G5=<O; 

16. �D>D<?5=<5 4>F>6 >5M5= D>D<O, D4?>DF>6 =4 E>EF46?5=<5 >><<5DG5E><E 4>F>6;  

17. %>EF46?5=<5 < D4EE<>FD5=<5 <4F5D<4?>6 D4EE?54>64=<O ?> =5E>ED4==O< ?5D56>7>4<;  

18. �D74=<74F<O D>7OE>4 7DG7>6;  

19. �D<5< < >5D45>F>4 >><<5DG5E><E 4>F>6 < 4>F>6 >5M5= D>D<O; 

20. �55E?5G5=<5 >>=FD>?O 74 E>5?N45=<5< 7DG7>>F?D46<F5?O<< < 7DG7>?>?GG4F5?O<< 

FD55>64=<= ?> >55E?5G5=<N E>ED4==>EF< 647>==>7> ?4D>4 ?D< ?>7DG7>G=>-D477DG7>G=OE 

D45>F4E =4 <5EF4E >5M57> ?>?L7>64=<O. 

 

4. �5N5< ?D>D5EE<>=4?L=>7> <>4G?O < 6<4O GG55=>= D45>FO 

�4>E<<4?L=4O GG55=4O =47DG7>4 756 G4E>6, 6 F>< G<E?5: 

>5O74F5?L=4O G4EFL 3 638 G4E>6; 

64D<4F<6=4O G4EFL 3 118 G4E>6. 

'65?<G5=<5 >>?<G5EF64 G4E>6 D45>G5= ?D>7D4<<O 74 EG5F G4E>6 64D<4F<6=>= G4EF< 

=4?D46?5=> =4 G7?G5?5=<5 >5N5<4 7=4=<= ?> D4745?4< ?D>7D4<<O. 

 

�E57> 3 936 G4E>6, 6 F>< G<E?5:  

<4>E<<4?L=>= GG55=>= =47DG7>< >5GG4NM57>EO 3   756 G4E>6, 6>?NG4O: 



>5O74F5?L=>= 4G4<F>D=>= GG55=>= =47DG7>< >5GG4NM57>EO 3118 G4E>6; 

E4<>EF>OF5?L=>= D45>FO >5GG4NM57>EO 3 638 G4E>6; 

GG55=>= ?D4>F<>< ?> <>4G?N 336 G4E>6.  

?D><76>4EF65==4O ?D4>F<>4 ?> <>4G?N 3 144 G4E4. 

 



����&�&�/ 

> D45>G5= ?D>7D4<<5 ?D>D5EE<>=4?L=>7> <>4G?O 

��.04 �O?>?=5=<5 D45>F ?> >4=>= <?< =5E>>?L><< ?D>D5EE<O< D45>G<E, 4>?6=>EFO< 

E?G64M<E 

4?O E?5F<4?L=>EF< 23.02.01 �D74=<74F<O ?5D56>7>> < G?D46?5=<5 =4 FD4=E?>DF5 (?> 

6<44<) 

>64?<D<>4F<O 3 F5E=<> 

D>D<4 >5GG5=<O 3 74>G=4O 

 

1. �5?4EFL ?D<<5=5=<O D45>G5= ?D>7D4<<O 

$45>G4O ?D>7D4<<4 ?D>D5EE<>=4?L=>7> <>4G?O O6?O5FEO G4EFLN ?D>7D4<<O ?>47>F>6>< 

E?5F<4?<EF>6 ED54=57> 765=4 6 E>>F65FEF6<< E $��% %�� ?> E?5F<4?L=>EF< 23.02.01 

�D74=<74F<O ?5D56>7>> < G?D46?5=<5 =4 FD4=E?>DF5 (?> 6<44<) 6 G4EF< >E6>5=<O 6<44 

45OF5?L=>EF< (��): �O?>?=5=<5 D45>F ?> >4=>= <?< =5E>>?L><< ?D>D5EE<O< D45>G<E, 

4>?6=>EFO< E?G64M<E < D>D<<D>64=<O E?54GNM<E ?D>D5EE<>=4?L=OE >><?5F5=F<=: 

�� 4.1. �D74=<7>6O64FL 6O?>?=5=<5 ?>7DG7>G=>-D477DG7>G=OE >?5D4F<= ?D< D45>F5 E 

7DG7><, ?>7DG65==O< 6 647>=4E E>7?4E=> F5E=<G5E><< GE?>6<O< D47<5M5=<O < >D5??5=<O 7DG74 

<?< ?D46<?4< ?5D56>7>< 7DG74; 

�� 4.2. �D>65DOFL E>EF>O=<5 < ?D46<?L=>EFL D47<5M5=<O < >D5??5=<O 7DG74 6 647>=4E 

E>7?4E=> F5E=<G5E><< GE?>6<O< <?< ?D46<?4< ?5D56>7>< 7DG74; 

�� 4.3. �D><76>4<FL >E<>FD 647>=>6 =4 65?57=>4>D>6=OE EF4=F<OE, >D><5 

<564>D>6=OE EFO>>6OE < ?5D544F>G=OE, <567>EG44DEF65==OE ?5D544F>G=OE < ?>7D4=<G=OE, 6 

G4EF< E>5?N45=<O FD55>64=<= F5E=<G5E><E GE?>6<= <?< ?D46<? ?5D56>7>< 7DG74 6 647>=4E 6 

E>EF465 ?>5744; 

�� 4.4. �OO6?OFL =4DGL5=<O 6 D47<5M5=<< < >D5??5=<< 7DG74 6 647>=4E 6 E>EF465 ?>5744 

?D< >E<>FD5 =4 65?57=>4>D>6=OE EF4=F<OE, >D><5 <564>D>6=OE EFO>>6OE < ?5D544F>G=OE, 

<567>EG44DEF65==OE ?5D544F>G=OE < ?>7D4=<G=OE. 

 

2. &5?< < 7444G< ?D>D5EE<>=4?L=>7> <>4G?O 3 FD55>64=<O > D57G?LF4F4< >E6>5=<O 

?D>D5EE<>=4?L=>7> <>4G?O 

% F5?LN >6?445=<O G>474==O< 6<4>< 45OF5?L=>EF< < D>D<<D>64=<O E>>F65FEF6GNM<<< 

?D>D5EE<>=4?L=OE >><?5F5=F<= >5GG4NM<=EO 6 E>45 >E6>5=<O ?D>D5EE<>=4?L=>7> <>4G?O 

4>?65=: 

<<5FL ?D4>F<G5E><= >?OF: 

>D74=<74F<O 6O?>?=5=<O ?>7DG7>G=>-D477DG7>G=OE >?5D4F<= ?D< D45>F5 E 7DG7><, 

?>7DG65==O< 6 647>=4E E>7?4E=> F5E=<G5E><< GE?>6<O< D47<5M5=<O < >D5??5=<O 7DG74 <?< 

?D46<?4< ?5D56>7>< 7DG74; 

?D>65D>4 E>EF>O=<O < ?D46<?L=>EF< D47<5M5=<O < >D5??5=<O 7DG74 6 647>=4E E>7?4E=> 

F5E=<G5E><< GE?>6<O< <?< ?D46<?4< ?5D56>7>< 7DG74; 

>E<>FD 647>=>6 =4 65?57=>4>D>6=OE EF4=F<OE, >D><5 <564>D>6=OE EFO>>6OE < 

?5D544F>G=OE, <567>EG44DEF65==OE ?5D544F>G=OE < ?>7D4=<G=OE, 6 G4EF< E>5?N45=<O 

FD55>64=<= F5E=<G5E><E GE?>6<= <?< ?D46<? ?5D56>7>< 7DG74 6 647>=4E 6 E>EF465 ?>5744; 

6OO6?5=<5 =4DGL5=<= 6 D47<5M5=<< < >D5??5=<< 7DG74 6 647>=4E 6 E>EF465 ?>5744 ?D< 

>E<>FD5 =4 65?57=>4>D>6=OE EF4=F<OE, >D><5 <564>D>6=OE EFO>>6OE < ?5D544F>G=OE, 

<567>EG44DEF65==OE ?5D544F>G=OE < ?>7D4=<G=OE. 

G<5FL: 

?>?L7>64FLEO F5E=<G5E><<< GE?>6<O<< D47<5M5=<O < >D5??5=<O 7DG74 < ?D46<?4<< 

?5D56>7>< 7DG74; 

?>?L7>64FLEO <=D>D<4F<>==O<< 46F><4F<7<D>64==O<< E<EF5<4<< ?> >D74=<74F<< 

6O?>?=5=<O ?>7DG7>G=>-D477DG7>G=OE >?5D4F<= ?D< D45>F5 E 7DG7><, ?>7DG65==O< 6 647>=5 

E>7?4E=> F5E=<G5E><< GE?>6<O< D47<5M5=<O < >D5??5=<O 7DG74 <?< ?D46<?4< ?5D56>7>< 7DG74; 

?>?L7>64FLEO D47?<G=O<< GEFD>=EF64<< E6O7< < ?5D5=>E<<O<< GEFD>=EF64<< 

D44<>E6O7< ?D< >D74=<74F<< 6O?>?=5=<O ?>7DG7>G=>-D477DG7>G=OE >?5D4F<= ?D< D45>F5 E 



7DG7><, ?>7DG65==O< 6 647>=5 E>7?4E=> F5E=<G5E><< GE?>6<O< D47<5M5=<O < >D5??5=<O 7DG74 

<?< ?D46<?4< ?5D56>7>< 7DG74; 

>D>D<?OFL 4>>G<5=F4F<N ?D< 6O?>?=5=<< ?>7DG7>G=>-D477DG7>G=OE >?5D4F<= ?D< 

D45>F5 E 7DG7><, ?>7DG65==O< 6 647>=4E E>7?4E=> F5E=<G5E><< GE?>6<O< D47<5M5=<O < 

>D5??5=<O 7DG74 <?< ?D46<?4< ?5D56>7>< 7DG74; 

?>?L7>64FLEO 65E>6O<< ?D<5>D4<<;  

674<<>45=EF6>64FL E> E<56=O<< E?G654<< ?> 6>?D>E4< >D74=<74F<< 6O?>?=5=<O 

?>7DG7>G=>-D477DG7>G=OE >?5D4F<= ?D< D45>F5 E 7DG7><, ?>7DG65==O< 6 647>=4E E>7?4E=> 

F5E=<G5E><< GE?>6<O< D47<5M5=<O < >D5??5=<O 7DG74 <?< ?D46<?4< ?5D56>7>< 7DG74. 

?>?L7>64FLEO F5E=<G5E><<< GE?>6<O<<, EE5<4<< D47<5M5=<O < >D5??5=<O 7DG74 < 

?D46<?4<< ?5D56>7>< 7DG74 ?D< ?D>65D>5 E>EF>O=<O < ?D46<?L=>EF< D47<5M5=<O < >D5??5=<O 

7DG74 6 647>=4E. 

6<7G4?L=> >?D545?OFL =4DGL5=<O D47<5M5=<O < >D5??5=<O 7DG74 E>7?4E=> F5E=<G5E><< 

GE?>6<O< <?< ?D46<?4< ?5D56>7>< 7DG74. 

GEFD4=OFL >><<5DG5E><5 =5<E?D46=>EF<, G7D>64NM<5 557>?4E=>EF< 46<65=<O < 

E>ED4==>EF< ?5D56>7<<>7> 7DG74 6 ?GF< E?54>64=<O, ?D< ?D>65D>5 E>EF>O=<O < ?D46<?L=>EF< 

D47<5M5=<O < >D5??5=<O 7DG74 6 647>=4E E>7?4E=> F5E=<G5E><< GE?>6<O< <?< ?D46<?4< 

?5D56>7>< 7DG74. 

6<7G4?L=> >?D545?OFL =4DGL5=<O D47<5M5=<O < >D5??5=<O 7DG74 6 647>=4E 6 E>EF465 

?>5744 =4 65?57=>4>D>6=OE EF4=F<OE, >D><5 <564>D>6=OE EFO>>6OE < ?5D544F>G=OE, 

<567>EG44DEF65==OE ?5D544F>G=OE < ?>7D4=<G=OE. 

GEFD4=OFL >><<5DG5E><5 =5<E?D46=>EF< 6 G4EF< =4DGL5=<O D47<5M5=<O < >D5??5=<O 

7DG74 6 647>=4E 6 E>EF465 ?>5744 =4 65?57=>4>D>6=OE EF4=F<OE, >D><5 <564>D>6=OE EFO>>6OE 

< ?5D544F>G=OE, <567>EG44DEF65==OE ?5D544F>G=OE < ?>7D4=<G=OE. 

>D>D<?OFL 4>>G<5=F4F<N ?> D57G?LF4F4< >><<5DG5E>>7> >E<>FD4 647>=>6 6 E>EF465 

?>5744 =4 65?57=>4>D>6=OE EF4=F<OE, >D><5 <564>D>6=OE EFO>>6OE < ?5D544F>G=OE, 

<567>EG44DEF65==OE ?5D544F>G=OE < ?>7D4=<G=OE. 

674<<>45=EF6>64FL E> E<56=O<< E?G654<< ?> 6>?D>E4< >E<>FD4 647>=>6 < 6OO6?5=<O 

=4DGL5=<= 6 D47<5M5=<< < >D5??5=<< 7DG74 6 647>=4E 6 E>EF465 ?>5744 =4 65?57=>4>D>6=OE 

EF4=F<OE, >D><5 <564>D>6=OE EFO>>6OE < ?5D544F>G=OE, <567>EG44DEF65==OE ?5D544F>G=OE 

< ?>7D4=<G=OE. 

?>?L7>64FLEO D47?<G=O<< GEFD>=EF64<< E6O7< < ?5D5=>E<<O<< GEFD>=EF64<< 

D44<>E6O7< ?D< >E<>FD5 647>=>6 ?D< >E<>FD5 =4 65?57=>4>D>6=OE EF4=F<OE, >D><5 

<564>D>6=OE EFO>>6OE < ?5D544F>G=OE, <567>EG44DEF65==OE ?5D544F>G=OE < ?>7D4=<G=OE, 6 

G4EF< E>5?N45=<O FD55>64=<= F5E=<G5E><E GE?>6<= <?< ?D46<? ?5D56>7>< 7DG74 6 647>=4E 6 

E>EF465 ?>5744. 

GEFD4=OFL >><<5DG5E><5 =5<E?D46=>EF< 647>=>6 =4 65?57=>4>D>6=OE EF4=F<OE, >D><5 

<564>D>6=OE EFO>>6OE < ?5D544F>G=OE, <567>EG44DEF65==OE ?5D544F>G=OE < ?>7D4=<G=OE. 

?>?L7>64FLEO <=D>D<4F<>==O<< 46F><4F<7<D>64==O<< E<EF5<4<< ?> >><<5DG5E>><G 

>E<>FDG 647>=>6 =4 65?57=>4>D>6=OE EF4=F<OE, >D><5 <564>D>6=OE EFO>>6OE < 

?5D544F>G=OE, <567>EG44DEF65==OE ?5D544F>G=OE < ?>7D4=<G=OE. 

G5F>> D>D<G?<D>64FL <=D>D<4F<N >5 >>>=G4=<< >><<5DG5E>>7> >E<>FD4 647>=>6 < 

GEFD4=5=<< >><<5DG5E>>= =5<E?D46=>EF< =4 65?57=>4>D>6=OE EF4=F<OE, >D><5 <564>D>6=OE 

EFO>>6OE < ?5D544F>G=OE, <567>EG44DEF65==OE ?5D544F>G=OE < ?>7D4=<G=OE. 

7=4FL: 

=>D<4F<6=O5 4>FO $>EE<=E>>= $545D4F<< < 7>EG44DEF6 3 GG4EF=<>>6 %>4DG65EF64 

�5746<E<<OE �>EG44DEF6 (%��) ?> >D74=<74F<< 6O?>?=5=<O ?>7DG7>G=>-D477DG7>G=OE 

>?5D4F<= ?D< D45>F5 E 7DG7><, ?>7DG65==O< 6 647>=4E E>7?4E=> F5E=<G5E><< GE?>6<O< 

D47<5M5=<O < >D5??5=<O 7DG7>6 6 647>=4E < >>=F5==5D4E <?< ?D46<?4< ?5D56>7>< 7DG74, 6 

>5N5<5, =5>5E>4<<>< 4?O 6O?>?=5=<O D45>FO; 

?>>4?L=O5 =>D<4F<6=O5 4>FO ?> >D74=<74F<< 6O?>?=5=<O ?>7DG7>G=>-D477DG7>G=OE 

>?5D4F<= ?D< D45>F5 E 7DG7><, ?>7DG65==O< 6 647>=4E E>7?4E=> F5E=<G5E><< GE?>6<O< 

D47<5M5=<O < >D5??5=<O 7DG74 <?< ?D46<?4< ?5D56>7>< 7DG74, 6 >5N5<5, =5>5E>4<<>< 4?O 

6O?>?=5=<O D45>F; 



FD55>64=<O >ED4=O FDG44 6 >5N5<5, =5>5E>4<<>< 4?O 6O?>?=5=<O D45>FO;  

?D46<?4 ?>64D=>= 557>?4E=>EF< =4 65?57=>4>D>6=>< FD4=E?>DF5 6 >5N5<5, 

=5>5E>4<<>< 4?O 6O?>?=5=<O D45>FO; 

D4E?>?>65=<5 =57454D<F=OE <5EF, M?5>FD<D<F<D>64==OE GG4EF>>6 65?57=>4>D>6=>= 

EF4=F<< < >55EF>G5==OE GG4EF>>6, ?D54=47=4G5==OE 4?O ?D>6545=<O >><<5DG5E>>7> >E<>FD4 

647>=>6 E>7?4E=> F5E=<G5E><< GE?>6<O< < ?D46<?4< ?5D56>7>> 7DG7>6; 

?D46<?4 D47<5M5=<O < >D5??5=<O 7DG74 6 647>=4E E>7?4E=> F5E=<G5E><< GE?>6<O< <?< 

?D46<?4< ?5D56>7>> 7DG7>6. 

?>DO4>> ?D<5<4, E>EF46?5=<O < ?5D544G< <=D>D<4F<>==OE E>>5M5=<= ?D< 6O?>?=5=<< 

?>7DG7>G=>-D477DG7>G=OE >?5D4F<= ?D< D45>F5 E 7DG7><, ?>7DG65==O< 6 647>=4E E>7?4E=> 

F5E=<G5E><< GE?>6<O< D47<5M5=<O < >D5??5=<O 7DG74 <?< ?D46<?4< ?5D56>7>< 7DG74. 

=>D<4F<6=O5 4>FO $>EE<=E>>= $545D4F<< < 7>EG44DEF6 3 GG4EF=<>>6 %>4DG65EF64 

�5746<E<<OE �>EG44DEF6 (%��) ?> ?D>65D>5 E>EF>O=<O < ?D46<?L=>EF< D47<5M5=<O < 

>D5??5=<O 7DG74 6 647>=4E E>7?4E=> F5E=<G5E><< GE?>6<O< <?< ?D46<?4< ?5D56>7>< 7DG74 6 

>5N5<5, =5>5E>4<<>< 4?O 6O?>?=5=<O D45>FO. 

?>>4?L=O5 =>D<4F<6=O5 4>FO ?> ?D>65D>5 E>EF>O=<O < ?D46<?L=>EF< D47<5M5=<O < 

>D5??5=<O 7DG74 6 647>=4E E>7?4E=> F5E=<G5E><< GE?>6<O< <?< ?D46<?4< ?5D56>7>< 7DG74 6 

>5N5<5, =5>5E>4<<>< 4?O 6O?>?=5=<O D45>FO. 

=>D<4F<6=O5 4>FO $>EE<=E>>= $545D4F<< < 7>EG44DEF6 3 GG4EF=<>>6 %>4DG65EF64 

�5746<E<<OE �>EG44DEF6 (%��) ?> >E<>FDG 647>=>6 =4 65?57=>4>D>6=OE EF4=F<OE, >D><5 

<564>D>6=OE EFO>>6OE < ?5D544F>G=OE, <567>EG44DEF65==OE ?5D544F>G=OE < ?>7D4=<G=OE, 6 

G4EF< E>5?N45=<O FD55>64=<= F5E=<G5E><E GE?>6<= <?< ?D46<? ?5D56>7>< 7DG74 6 647>=4E 6 

E>EF465 ?>5744 6 >5N5<5, =5>5E>4<<>< 4?O 6O?>?=5=<O D45>FO.  

?>>4?L=O5 =>D<4F<6=O5 4>FO ?> >E<>FDG 647>=>6 =4 65?57=>4>D>6=OE EF4=F<OE, >D><5 
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